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QUESTION 1

Given: 

As a consultant, you have been hired by ABC Company to implement an outdoor WLAN connection between two
buildings that are 2 kilometers (1.24 miles) from each other, with no obstructions in between. 

Your first required objective is to create a point-to-point link between the two buildings within the local regulatory body\\'s
800 mW EIRP maximum. 

Your second required objective is to provide an industry-standard security solution capable of supporting mutual
authentication. 

As an optional objective, you must minimize the amount of interference from, and to, nearby WLAN networks. 

You install an OFDM wireless bridge at each building, configuring one in root mode and the other in non- root mode.
You set each radio for 100 mW (20 dBm) and attach 9 dBi omni-directional antennas to both. You configure the network
for WPA2-Enterprise with PEAPv0/EAP-MSCHAPv2 authentication. 

Which statement is true about the solution you chose to deploy? 

A. Your solution meets both required objectives and the optional objective. 

B. Your solution meets the first required objective and the optional objective, but not the second objective. 

C. Your solution meets the second required objective and the optional objective, but not the first required objective. 

D. Your solution meets neither required objective but meets the optional objective. 

E. Your solution meets both required objectives, but does not meet the optional objective. 

F. Your solution does not meet either required objective, or the optional objective. 

Correct Answer: E 

 

QUESTION 2

Given: ABC Hospital is planning a Wi-Fi infrastructure upgrade where the 802.11b/g APs would be replaced with new
dual-radio HT (802.11n) APs. ABC wants to minimize the time and cost associated with performing a new site survey,
so 

they will be mounting all of the new APs in the same locations and with the same cable drops as the existing APs. 

What is one performance drawback with this deployment method? 

A. Multipath will increase, causing excessive layer-2 retransmissions. The retransmissions will cause latency for VoWiFi
handsets. 

B. Increased receiver sensitivity on the HT APs will cause them to continually change channels to avoid co-channel
interference. 

C. If the existing UTP cabling is not Category 6 or better, the total Ethernet backhaul for each AP will be limited to 100
Mbps. 
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D. In locations with line-of-sight to client devices and little multipath, the benefits of MIMO may be less significant than in
other areas. 

Correct Answer: D 

 

QUESTION 3

Given: Joe runs a small hotel, and as a value added service for his customers he has implemented a Wi- Fi hot-spot.
Joe has read news articles about how hackers wait at hot-spots trying to take advantage of unsuspecting users. Joe
wants to avoid this problem at his hotel. 

What is an efficient and practical step that Joe can take to decrease the likelihood of active attacks on his customers\\'
wireless computers? 

A. Implement Network Access Control (NAC) and require antivirus and firewall software along with OS patches 

B. Require EAP-FAST authentication and provide customers with a username/password on their receipt 

C. Implement an SSL VPN in the WLAN controller that initiates after HTTPS login 

D. Enable station-to-station traffic blocking by the access points in the hotel 

Correct Answer: D 

 

QUESTION 4

What statement best describes the manual RF site survey report? 

A. It is a series of notes taken during the interview with the network manager and given to the site survey project
manager. 

B. It is a one-page network inspection summary used to create a certificate of network compliance. 

C. It contains the results from the RF coverage, capacity, and interference analysis. 

D. It is an internal document used by the site surveying firm for network deployment, and is not usually shown to the
client. 

E. It states the customer requirements, business justification, and a detailed budget for the WLAN. 

Correct Answer: C 

 

QUESTION 5

Given: As you prepare for a site survey in a hospital, you have learned about several wireless devices that support
connection-oriented, real-time applications. These applications are sensitive to service interruptions and require
excellent signal quality, low latency, and low loss. For that reason, it is important to identify sources of RF interference
as well as building characteristics that would cause RF blockage or dead spots. 

What systems or environmental characteristics are most likely to cause interference or RF blockage and disrupt service
for these applications? (Choose two) 
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A. Microwave ovens 

B. Long hallways 

C. Elevator shafts 

D. RFID chokepoints 

E. Drywall offices 

Correct Answer: AC 
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